cm

0 2 4 6 8
O e e e e e e e e e A



cm

0 2 4 6 8
I



cm

0 2 4 6 8
T e e e e T e e T



"l H 1 1 B



"l 1 H H

|||||I|||||||||||||||||||I||||I||||||||||||||||||||||||||||||||||I||||I||||I|||||||||I||||I||||I||||



“H 1 H B =R




cm

0 2 4 6 8
e e e e e e e



,ﬁ-v

"Il H 1 B

I||||||||||||||I||||I||||I||||I|||||||||||111I||||l||||||||||||||I||||I||||||||||||||I||||I||||I||||



"l 1 i B

|||||I||||I||||||||||||l||||||l||||l||nll|||I|||||||||I|||||||||I||||I||||I||||ln||I||||I||||I||||



"Il H 1 B

|||||l||||||||||||||I|||||||||I||||||||||||||I||||I|||||||||I||||I||||I||||I|||||||||I||||I||||I||||



cm

.8 -

0 2 4 6
I



